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5 8 3,557.3 9,849,344 3,208 2,769 2,349
4 2 971.3 2,180,117 2,371 2,245 2,111
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5 2 919.9 2,159,814 2,327 2,327 2,327
4 10 3,975.9 8,413,099 2,268 2,116 2,052
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5 2 975.7 2,496,410 2,624 2,559 2,495
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5 6 2,568.7 6,078,331 2,603 2,458 2,349
4 6 2,406.9 5,531,049 2,408 2,256 2,155
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“ B 12 4,975.6 11,609,380 2,603 2,363 2,155
5 5 2,347.1 6,239,038 3,013 2,767 2,484
4 5 2,521.8 5,818,879 2,171 2,157 2,133
A 3 2 954.1 1,882,864 2,057 2,057 2,057
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B b
+ 15 1,297.9 893,411 823 688 585
R H 42 3,781.3 2,560,899 756 677 598
R 37 3,502.8 2,329,200 745 665 572
& 4t 5 459.9 265,437 642 577 413
& it 99 9,041.9 6,048,947 823 669 413
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i E 1 84.9 48,046 566 566 566
+ 17 1,394.8 763,206 583 547 534
S H 12 1,018.8 555,180 583 545 534
R 15 1,269.5 650,761 583 513 470
& 4t 1 87.9 43,479 495 495 495
& it 46 3,855.9 2,060,672 583 534 470




